2023434

MEIRSE - L2V EE

iz me £5E (Fr)
R=RTNRTF=V—K L2 N 5,000/, B
. (W2.4m X D0.9m X HO0.6m)
REHEBE
FL—=voey b LyZL 100/, B
R=RTNRF—=I—HK L2 5,000/,
u (W2.4m x D0.9m X HO0.6m)
TRAKR—VEE
FL—z=v¥2y b Lvin 100M.H
R=RTNRTF—=—R LRI X
Rty 2— 5,000/, B
REEY % (W2.4m x D0.9m X H0.6m)
o 2023%38 £ T  900Fd 20kgss
7 AN S = RR 20234845 1,100/ 20kg$
PRy A WEIWT L& 1008,/ B
2023%38 £ T 200/, H
P v
= L s 2023485 210M,/H
AR IS5y EIALTRR—R LY S 202338 %T 520/, H
(557 - Fml - 2—h—ky }) 2023%4F 4> 550/, H
R=RTNVRATF=—HK LEZIL X 5.000F, B
(W2.4m X D0.9m X H0.6m)
o 2023%38 T  900F, 20kesk
7 AN S = BRR 2023&48 75 1,100/, 20kgsk
AR ER A E
A ERIER 1,250,/ B
FSykUY Lygn
FREEUANOEE 2,610/, B
AR=YR2L2— LRI 200/ B8
2023E30 £ T 420, KSR
2023E4AH > 440F, B5R
FTEFLHE By h—T— 1M Ly &L
2023%38 £ 1,260/, H
2023E4A 4> 1,320/, H
R=RTNRTF=V—K LR X 5.000F, B
. (W2.4m x D0.9m X H0.6m)
RRACER M A B AR
fL—z=v¥2yb Lvir 100 H

=2 TNRT—I—RERERBHFEE (FERE) TL¥ErVWELET,




